
Problem 1-

• Mn symmetric :

UÉ MICK =

= HE:(Mntijc Vrj = - or;É(Mn*)ji Uri
= Ur ; CME);i Uri = Uric (ME ); Uri

⇒ ME -- ME⇒ MI=Mu ⇒ geometric
mafia

• Show SUCH ✗V1) SM invariance

→ Ur has no quantum # 's under 50122×41 )

( i%I*)+ E. = _ÉioEe,
= Iotioalh
Utiozu = ios ✓



• N :< = CERT
y
> drop i index

Nic Migne ¢05)TcM→cÑ
= Jr CTC MIC VIT

b.c. f ¥ D= utgo

Cort)+ Ct MzI turf =
= (80T HE )+ C + µ¥+ got ya
= WE go

*Ct M§- 80
+

Ur

= -v51 8.* C Mutti ur

µ 8.* C It= 8. C To =

roirzki-kr.ro#=8ot=fI)=8oi8a=-iraVo--uri-CMJik
✓

I



other Tome :

Jr E-+ To lie
,
F- = iozI*

f) Ne c Ñ⇒ - C Niort
⇒ VI = NIC

⇒ in#*Pole Nic Et Yok

= NICÉ irakli ✓

• F- f. (F)
"

keel
"

Nic Einheit?Nic 0¥ K
Em

• Consider NEC Msk =

= I@Ic MDK + NECMoh)



= e-zfviMIC.TK + NECMsk)

=g(UIMJcNL+NICM☐k)
Therefore
Iman __E4IMÉcN< + NICMight

+NIMNCN, ) + b. c. ✓

⇒ Mw=yÉ ME
N MD MN )

• Assume Mn >> MD ⇒ UTMwU=Dw

sw=%µi)
of: :'-)
utu=f, -1+11.3%1--1: :/ +0¥



uimwu -1¥ 1%1%11: :)
= f- FMD gMÑ¥MN

Mrs o*%i+µµ)% F)
= f-

IMD MI- ④ Mu

Mg - Mud Mgg++9*µJ+µ
)
+0104(ggaeiagonog www.y

My - Mud =o⇒9=Mjtµ,

=µ☐T(MiÑM☐
- MIMI 'M

, 0

0 Martin,i%µj4*mEmj
+ Mn
)



µ µj(
- MEM MD °

/ =D,,
O Mu

Mu -= - ME MEM, , MJ : Mu

• Diagoualiae Mv & Mu !

Mu = KI muy;
→

convention

Mn = Vii Mn KJ § ieeuimoler

Mu -- MJ

→ FEI Hye, get
%=MÑ



Mu = K* Mr VI = - MJ Mj
1-
µ
,

⇒ Mo = - (k*j
"

Mj Mj
'

Ms K =

= - Cmon)TMN¥ Ms K =

= - let white

⇒ ME = - (a)
→

more
'

⇒ ten = - te mislet



Introduce 0=4 + CIT

N=Vr+ CORT

Moss Tierce ☐ Now
11

(vicar + b. c.)

Erin
is = (Vic mouth -c.)
f
diagonal

Lµµ=i 08%0=20,Mork

⇒Lie -- E Cioran - motif
overall Factor some fer N



☒
Problem 2 _e
• N →

+

+ e

ite = igfg 9 Ñ(q ) 841¥ ) ecp) Ejea)

ME gg¥ Elk ) é (p) (1-+21)+8%+1g)
= g9*q elite

+

(P) (stars/
+

✓
+

go Nlq )

=

g Ea Eu Ca) e-(p ) 4¥s ) V Ncq )

tell= 5¥ Ev é NL NÑ Me q*

em ! 5¥ ¥ NL
NÑ Me EEE

election ofmanaAwp\ Monti N of momentary
§ Eu EI = - gnu -14m¥

I EspiedMt= 84¥ fgm%m¥)Te($8k time)V4
vanishes LR-0



= 8¥fgnutunn.ly/TeCpVqV4)1+rsTefVVHP)--4lqYylr-
nitrifying 't){Tie (gangsters)=GieMH

= 81¥ C-griot king ) (Bgp) (yHzBIz✗PzM+zNqPI
+ iEUR4

= 84¥ ( p . q + 2 lPYh¥
Kinematics : q = (Mn , e) . p4mÑ

F- (IPI , f) , k=(É, - f)

p - g
= my #Fe

p
- w = I ftp.FMF-IPR
q

, k = Ew MN

= 84¥ ( Mn Ee t 2 ( Eetw-ju.EC?-EwMN))



= 51¥ Eemn ( e- + 24%+0%18-1)

Eet E-
☒
= MN

Kel tlPe4tmÑ = Mn
⇒ (Mn - lpeÑ= lifetimes
a> mi t lp#- 2 PetMN = life + Mis

a> life = Ee =

mia-mmj.EU?--lPeitmeZ--fmri-zrmn#1-mis
=

↳ 1mn
"
+Mui-2mi mñ thmim is)

= f-micnn.im#⇒ Es = tmnfmñtmu)

g. E.µi=g4¥(mi;mm→)mn(e- +4m£ mln -EmImñ+m:))
= 84¥ mm-I.G-mm.IK.ms +mil
=g4§ miming G- Mmpi ) (e-+2M¥)



d£e=É Ennui
=

a 891m¥ 4m¥;) f-+2m¥.)
1813 m¥

ii) g
→0 oz ✓→o mis = Eggo

a)g→o → A decouples→nogauge syne . r=O

b)oso → kineudtuedly me should betaken into

forbidden account

c)gso , oooo , Ms finite egg→on> processdoesn't

hoffer

• Verify N can also decoy into Wei tent
leak

MCN→e-+ At)=r(N→é+ñ)
④What about MN → 2-+0)?Oudmssceoedy decays?



• f-
"

~T~ ¥0m, m÷ t hiya order

Mo ~ eV ~ to
-28 I=W^96eV

g-nw-tmu~eozoev~ageg-H-eo-sas-n.io
"

(mm⇒~ •"foggy)
~ lots G¥mj


